Instructions

Tekitronix
/

RM2000
Rackmount Kit

071-1103-00

Warning

These instructions are for qualified personnel
only. To avoid personal injury, do not assemble
or install this rack mount unless you are
qualified to do so.

www.tektronix.com

AR R
071110300



Copyright © Tektronix, Inc. All rights reserved.

Tektronix products are covered by U.S. and foreign patents, issued and
pending. Information in this publication supercedes that in all previously
published material. Specifications and price change privileges reserved.

Tektronix, Inc., P.O. Box 500, Beaverton, OR 97077

TEKTRONIX and TEK are registered trademarks of Tektronix, Inc.

WARRANTY

Tektronix warrants that the products that it manufactures and sells will be free from defects
in materials and workmanship for a period of one (1) year from the date of shipment from
an authorized Tektronix distributor. If a product proves defective within the respective
period, Tektronix will provide repair or replacement as described in the complete warranty
statement.

To arrange for service or obtain a copy of the complete warranty statement, please contact
your nearest Tektronix sales and service office.

EXCEPT AS PROVIDED IN THIS SUMMARY OR THE APPLICABLE WARRANTY
STATEMENT, TEKTRONIX MAKES NO WARRANTY OF ANY KIND, EXPRESS
OR IMPLIED, INCLUDING WITHOUT LIMITATION THE IMPLIED WARRANTIES
OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE. IN NO
EVENT SHALL TEKTRONIX BE LIABLE FOR INDIRECT, SPECIAL OR
CONSEQUENTIAL DAMAGES.

Contacting Tektronix

Technical Email: techsupport@tektronix.com

support ,
1-800-833-9200, select option 3%

6:00 a.m. - 5:00 p.m. Pacific time

*  This phone number is toll free in North America. After office hours, please
leave a voice mail message. Outside North America, contact a Tektronix
sales office or distributor; see the Tektronix web site for a list of offices.




RM2000 Rackmount Kit

The RM2000 is designed for use with the TDS1000/2000 Series

oscilloscopes.

@ RMS2000 Replacement
Al

Figure 1: RM2000 Rackmount Kit parts

Figure 1-x Part number

Description

1-1 RM2000

1-2 071-1103-XX
1-3 016-0099-XX

not saleable

not saleable
not saleable
not saleable

not saleable

RM2000 Rackmount Kit, includes a front and back
panel set, 2 handles, Instructions, bag of screws

RM2000 Rackmount Kit - Instructions
Standard mounting hardware in plastic bag, includes:

4 ea (for handles) screws 8-32 x 1/2 phil pan,
#8 med splt LW

4 ea screw M 5 x 16 oval head phil, flat washers

4 ea screw M 6 x 16 oval head phil, flat washers

6 ea nut 8-32 x 11/32 keps, #10 finish washers

4 ea 10-32 x 3/4 poz, 12-24 x 3/4 poz, flat washers

RM2000 Rackmount Instructions 1



RM2000 Rackmount Kit

Figure 2: RM2000 Rackmount assembly

e 4826 mm ——

(19.000 in)

37.3 mm 445 mm —
465.5 mm | .
i 1.469in -~
(18.327 in) (1.469in)  (1.7501in) -
D V { (4.024 in)
176.2 mm

101.6 mm _

N N 1(4.000 in) | (6:938in) [

L | Y —

Figure 3: Dimensions of the RM2000 Rackmount

2 RM2000 Rackmount Instructions



